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Date Questions 

 a) 768 + 2428 + 1567 = b) 7000 – 3272 = c) 323 x 17 = d) 236 ÷ 7 = 

 a) £330.84 + 63.12 + 43p = b) £26 - £6.43 – 63p = c) 576 x 18 = d) 326 ÷ 8 = 

 a) 643.34m + 82.6m + 10.9m = b) 53.4 – 33.6 = c) 346 x 19 = d) 2654 ÷ 9 = 

 a) £65.77 + £5.04 + 67p = b) £9 - £5.56 = c) 306 x 17 = d) 1545 ÷ 8 = 

 a) £7.97 – 89p + 345p = b) £50 - £20 - £14.02 = c) 432 x 18 = d) 5067 ÷ 7 = 

 a) ½m + ¾m + ¼m = b) 1km – 578m – 24m = c) 207 x 19 = d) 6789 ÷ 6 = 
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Mental Maths Strategies: • Recall percentage equivalents of one-half, one-quarter, three-quarters, tenths and hundredths  

a) ½ = 0.50 or 50%   b) ¼ = 0.25 or 25%  c) ¾ = 0.75 or 75%  d) 1/10 = 0.10 or 10%  e) 1/100 = 0.01 or 1%   f) 1/5 = 0.20 or 20% 

 

 

 

 

 

Wk 1: a.  768 + 2428 + 1567 =              b.  7000 – 3272 =           c. 323 x 17 =       d. 236 ÷ 7 =  

Wk 2: a. £330.84 + £63.12 + 43p =      b. £26 - £6.43 – 63p =   c. 576 x 18 =     d. 326 ÷ 8 = 

Wk 3: a. 643.34 m + 82.6m + 10.9m =    b. 53.4 - 33.6 =              c. 346 x 19 =       d. 2654 ÷ 9 = 

Wk 4: a. £65.77 + £5.04 + 67p =         b. £9 - £5.56 =               c. 306 x 17 =       d. 1545 ÷ 8 =  

Wk 5: a. £7.97 – 89p + 345p =             b. £50 - £20 - £14.02=     c. 432 x 18 =       d. 5067 ÷ 7 =  

Wk 6: a. ½m + ¾m + ¼m =                     b. 1 km – 578m – 24m =       c. 207 x 19 =       d. 6789 ÷ 6 = 
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  All times tables multiplied by 

  multiples of 10 ex: 70 x 8 =     

 

 

 

 

 


